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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3473 5.8 0.7 6 96.9 99.9
2 3473 6.9 1.4 11 62.7 99.9
3 3474 9.6 2.4 14 68.8 100
4 3474 7 2 10 70 100
5 3472 6.8 2.5 11 61.8 99.9
6 3469 6.5 2.3 11 59.3 99.8
7 314 13.1 7.6 40 32.9 9
8 14 14.5 8.8 40 36.3 0.4
9 3128 18.7 7.9 40 46.7 90

10 2 3.5 0.7 40 8.8 0.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sociology - Unit 2 
 


Compulsory Core 
 


Question Answer Marks 


1 One mark for each correct answer: 
Representativeness, ethnicity, exploitation, lifestyle, ascribed 
status, stereotype. 


6 


2 (a)  (i) Any 2 from Wage rises, female employment, income and wealth, 
number in work. 


2 


2 (a) (ii) It went down or figures quoted accurately. 1 


2 (b) Unacceptable answers will not explain either wealth or income 
successfully. 
 
1 mark for basic definition of either wealth or income. 
 
2 marks for definition and example of wealth or income, or for basic 
explanation of both or examples of both. 
 
3 marks for good explanation of both without highlighting the 
difference.. 
 
4 marks for answers that do all the above and make clear the 
difference e.g. Wealth = possessions over and above that which is 
needed to live adequately. 


4 


2 (c) 
 
 


One mark is available for one basic reason. E.g. Poor won’t benefit 
as much as the rich, some people still don’t have jobs. 
 
Two marks for development of this/ use of terminology. E.g. Some 
groups are victims of discrimination/ have less power/ 


2 


3 (a) Create ideas to improve racial equality 1 


3 (b) People are given numbers and names not used 1 


3 (c) A basic response for one mark will be eg.so that they don’t know 
which are ethnic minorities or male/female from the names. 
 
For two marks they should develop further and/or include 
terminology e.g. prejudice, discrimination. 


2 
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Question Answer Marks 


3 (d) Unacceptable answers will offer responses that do not explain 
what racism is.  
 
One mark is awarded to basic answers. E.g. People do not like 
people with different coloured skin or different cultures or an 
example – calling someone racist names or attacking them 
because of their race, ethnic group, religion or nationality. 
 
Two marks will be awarded to fuller answers e.g. racism may 
involve thinking that some ethnic groups are superior to others. 
This may mean that they are treated differently. 
 
Three marks are awarded to answers that explain with clarity, 
possibly with terminology – prejudice, discrimination. 


3 


3 (e) (i) Questionnaires, Interviews, Observation,  1 


3 (e) (ii) Problem 1 – One mark for basic problem – finding people to ask, 
people telling lies, time, cost.  Terminology accurate but not 
explained. 
 
Two marks for development .e.g. They may lie because they are 
worried they could get into trouble for discriminating. 
 
They may be unconscious of their prejudice 
 
Three marks for appropriate terminology explained and linked 
accurately to the problem. 
 
Problem 2 – further 3 marks as above. 


6 


4 (a) Passing laws to make taxes fairer, stop rich people avoiding 
paying taxes, make pay more equal and provide health and 
education for all – up to 2 marks. 


2 


4 (b) (i) One mark for basic explanation. E.g. some countries are rich 
and others are poor. 
 
Two marks for developed explanation with use of terminology 
E.g. Poverty and famine, Exploitation. 


2 


4 (b) (ii) One mark for a basic problem - war, famine, unrest,  
 
Two marks for development/terminology. E.g. Exploitation, 
poverty, Quality of life, life chances. 


2 
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Question Answer Marks 


4 (c) One mark for example alone or basic explanation of link. E.g. 
lack of education, poor diet, 
 


Two marks for basic explanation of link and development/ 
example/ use of terminology. E.g. Deprivation, poor diet means 
low life expectancy. 
 


Two further marks available for a second link explained well. 


4 


5 (a) Inequality or poor life chances 1 


5 (b) One mark for basic explanation e.g. Very poor people, people 
left out of society. 
 


Two marks for some development or examples. E.g. The 
underclasses are groups left out of society, such as the 
homeless. 
 


For three marks there should be accurate use of terminology and 
an assured explanation. E.g. Social exclusion, marginalisation. 


3 


5 (c) One mark for identifying a social group. E.g. Unemployed, 
homeless, disabled. 
 


Two marks for explanation of why that group are likely to have 
difficulty. 
 
Three marks for further development/ knowledge/ terminology. 


3 


5 (d) Problem 1 – One mark for basic issue – upsetting people, 
invading private life. 
 


Two marks for development/ accurate use of terminology – 
informed consent, privacy, purpose of the research. 
 


Problem 2 – further 2 marks as above. 


4 


6 (a) poor lighting, lack of access, small type, lack of hearing loops or 
needing to use modern technology to use a service. Up to two 
marks. 


2 


6 (b) (i) Ethnic minorities, women, disabled or other.  1 


6 (b) (ii) Basic explanation or example for one mark each. Development/ 
use of terminology for 3 marks. 


3 


6 (c) 
 


One mark will be awarded to responses that explain why 
discrimination may be difficult to prevent.. E.g. People have 
grown up that way. People see things on TV that are racist. 
Laws are hard to enforce. Second mark for development / use of 
terminology. 
 


A further two marks are available for a second reason as above. 
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Sticky Note

Six marks.







Sticky Note

Two marks awarded for accurate identification of the two improvements.



Sticky Note

one mark for identification of trend.



Sticky Note

Full marks. Explanations for both wealth and income are solid ans the examples too. The highlighted middle sentence highlights the difference.



Highlight



Sticky Note

Two marks for identificaion of group and technical reason, racism.







Sticky Note

One mark.



Sticky Note

One mark.



Sticky Note

Full explanation which shows understanding. It also uses terminology accurately.



Highlight



Highlight



Highlight



Highlight



Highlight







Sticky Note

Reasonable understanding shown, but more terminology and accuracy needed for third mark. Two marks.



Sticky Note

One mark for accurately identified method.



Sticky Note

Three marks for problem 1. Terminology as used accurately and a reason identified for the lack of truth.



Sticky Note

Problem 2 was very vague and awarded one mark only. This made four marks overall.







Sticky Note

Two marks for accurate explanation and use of the item.



Sticky Note

Two marks for accurate identification of 2 ways.







Sticky Note

One mark awarded for 'lack of education'. This would need to be developed for a second mark. For example, lack of education may cause poverty or a lack of economic growth.



Sticky Note

Again this answer received full marks. It uses a range of terminology and links this well to lifechances.







Sticky Note

One mark.



Sticky Note

Two marks awarded for an answer which showed a basic understanding to the term. It would have been improved through the use of a wider range of technology, such as unemployment, marginalisation or social exclusion.



Sticky Note

Two marks for identification of the homeless and the fact that they don't have all they need , such as food and water.

A further answer could have included terminology, such as absolute poverty, isolation, social exclusion.







Sticky Note

Two marks for recognition of the need for parental permission.



Sticky Note

One mark for the idea of them being upset or embarassed. Technical language, such as psychological or emotional harm could have secured the second mark.
Three marks in total.







Sticky Note

Two marks for two barriers correctly identified.



Sticky Note

Zero marks as the answer breaks the rubric by referring to age.



Sticky Note

Unfortunately, the use of age in their answer also cost them two marks here. Zero marks.

Candidates need to be advised to read the questions carefully.







Sticky Note

One mark for an innovative response. It could have been developed to say that prejudice is a common human trait.



Sticky Note

Two marks for intelligent use of the concept of socialisation.

Three marks in total.
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Sticky Note

Two improvements are correctly identified using the item.



Sticky Note

One pattern identified.



Sticky Note

This answer was awarded 2 marks for basic examples of wealth and income. The explanations themselves could have been improved to gain 3 marks, but the difference needed to be securely identifies to gain all 4 marks.



Sticky Note

Full marks for identification of the homeless and a description of how they may not benefit as much as others.







Sticky Note

1 mark for correct use of the item.



Sticky Note

1 mark awarded. it was felt that the candidates needed to state that people applying should be identified by number and not a name. Some only bothered to mention number and lost a mark here.



Sticky Note

Both marks awarded. The important thing was the link to race which was seen as enough for the second mark. It would have been even better for candidates to relate explicitly to prejudice, discrimination or equality. This candidate also introduced a valid point about them not being able to search online for information about a person.







Sticky Note

This answer was awarded two marks. It gave the idea that racism is about the idea that one race is better than another and an historic example.

It would have been improved with more terminology, such as prejudice and discrimination. This could also have widened the view to include the idea that racism may also be about actions as well.



Sticky Note

1 mark.



Sticky Note

Full marks for two valid problems which were explained using terminology. These could have been better still if they had made explicit reasons why the university might look bad or might not want to take part. However, the accurate use of terminology lifted this answer.







Sticky Note

One mark awarded for a basic idea about global inequality. The candidate  could have used the item much more. 



Sticky Note

Two marks awarded for correct use of the item.







Sticky Note

Two marks awarded.



Sticky Note

This answer was awarded all 4 marks . It linked together a number of factors related to lifechances. Range of terminology was used, not always perfectly, but full credit given for the range of ideas.







Sticky Note

One mark for correct identification using the item.



Sticky Note

An answer which showed some understanding of the term. Further terminology would have helped.



Sticky Note

One mark awarded for identification of the group, but no description offered for further marks.







Sticky Note

Two marks for recognition of the need for consent from parents.



Sticky Note

One mark for the idea of upset or mental harm , making three marks in total.







Sticky Note

Two barriers identified for two marks.



Sticky Note

One mark for ethnic minorities.



Sticky Note

Two marks awarded. The idea of cultural misunderstanding is applied well. An example would have added a third mark.

Non verbal behaviour including hand gestures and eye contact could vary between cultures causing misunderstandings and leading to discrimination.







Sticky Note

Neither of these reasons were deemed worthy of any credit. There were some candidates who used the idea of positive discrimination leading to negative discrimination, but these answers were much clearer than this one.

Reason 2 was very vague.
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SECTION A


Answer all the questions in the spaces provided on the paper.


1.	 Use the words in the box below to answer the questions.


stereotype		  lifestyle		  ascribed status


ethnicity		  exploitation		  representativeness


	 (a)	 What term is used to describe whether research has obtained a fair sample of the 
population studied? 	 [1]


	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (b)	 What term is used to describe the cultural group a person belongs to?	 [1]


	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (c)	 What term is used to describe when a person or group is taken advantage of?	 [1]


	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (d)	 What term is used to describe the job, clothes, housing, leisure habits and interests a 
person has?	 [1]


	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (e)	 What term is used to describe a position a person was born into?	 [1]


	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (f)	 What term is used to describe a simple, exaggerated view of someone based on a group 
they belong to?	 [1]


	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  
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2.	 Look at the item below and answer the questions that follow.


	 Unemployment falls.


	 According to the Office for National Statistics, the number of people out of work fell by 43,000 
between February and April 2015. Additionally, wage rises grew at their fastest rate for 4 years, 
and the employment rate for women hit a record high of 68.6%.


	 Unemployment in the UK 2008-2015


Year 2008 2009 2010 2011 2012 2013 2014 2015


Millions 
unemployed 1.7 2.5 2.5 2.7 2.5 2.5 2.3 1.8


Source adapted from BBC News 2015


	 (a)	 (i)	 Using the item, identify two improvements in 2015.	 [2]


	


	


	 (ii)	 Using the item, state what happened to the number of people unemployed between 
2014 and 2015.	 [1]


	


	 (b)	 Explain, using examples, the difference between wealth and income.  	 [4]


	


	


	


	


	


	


	


	


	 (c)	 Identify and describe one group which may not benefit as much from the improvements 
shown in the item.	 [2]


	


	


	


	


9
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3.	 Look at the item below and answer the questions that follow.


	 University places harder to get when you are a black or minority ethnic student


© WJEC CBAC Ltd.


	 The Runnymede Trust is an organisation that works to improve racial equality.  A Trust report in 
2015 found that black and minority ethnic students have less chance of getting into university 
than other students, even when they have the same grades.


	 The report suggested that the admissions process for university places needed to be improved. 
One idea suggested was that people applying for a place should be identified by a number and 
not their name.


Adapted from a report on Tes.co.uk


	 (a)	 According to the item, what does the Runnymede Trust try to do? 	 [1]


	


	 (b)	 (i)	 Using the item, what idea did they have to make the admissions process fairer?	[1]


	


	 (ii)	 Suggest and explain one reason why this could make the admissions process for 
university fairer.	 [2]
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	 (c) 	 Explain, with an example, the meaning of the term racism.	 [3]


	


	


	


	


	


	 (d)	 Researchers are interested in carrying out research into the way in which universities 
select their students.


	 (i)	 Suggest a suitable method that they could use.	 [1]


	


	 (ii)	 Outline and explain two problems that the researchers might experience using the 
method you have chosen. 	 [3+3]


		  Problem 1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	


		  Problem 2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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4.	 Look at the item below and answer the questions that follow.


Wealth of the top 1% to overtake the rest of the world put together


© WJEC CBAC Ltd.


	 Oxfam is an important charity, which works to help the poor all over the world. In 2015, they 
warned that the richest one percent of people would soon own more wealth than the rest of the 
world put together. The scale of global inequality is “staggering” according to their report.


	 Oxfam decided to launch a campaign called ‘Even it Up’. The campaign called on governments 
to tackle the problem by passing laws. These laws would make taxes fairer, stop rich people 
avoiding paying taxes, make pay more equal and provide health and education for all.


Source adapted from Oxfam


	 (a)	 Using the item, explain what is meant by the term global inequality. 	 [2]


	


	


	


	


	 (b)	 (i)	 Using the item, identify two ways in which changes to laws could help tackle global 
inequality.	 [2]
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		  (ii)	 Explain one problem that may be caused by global inequality.	 [2]


	


	


	


	


	 (c)	 Explain, with examples, how poverty can affect a person’s life chances.	 [4]


	


	


	


	


	


	


© WJEC CBAC Ltd.
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5.	 Look at the item below and answer the questions that follow.


	 To cut crime you need to cut inequality says top cop


	 In 2015, Scotland’s most senior police officer, told a conference that the only way to reduce 
crime further was to reduce inequality. 


	 The Chief Constable suggested that the police alone cannot change the underlying causes 
of crime. Tackling inequality and improving life chances in poor communities would break the 
chains of inequality. This inequality is damaging many communities and causing the growth of 
an underclass involved in crime.


Source adapted from the bbc.co.uk


	 (a)	 Using the item, identify what the police suggest are the underlying causes of crime.   [1]


	


	


	 (b)	 Explain what is meant by the term underclass.	 [3]


	


	


	


	


	


	


	 (c)	 Identify and describe one social group that is more likely to be included in the underclass.
			   [3]


	


	


	


	


	


	


© WJEC CBAC Ltd.
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	 (d)	 A sociologist has been asked to help produce a reality television series that observes 


and films families living in poverty. Explain two ethical issues that would need to be 
considered.	 [4]


		  Issue 1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	


		  Issue 2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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6.	 Look at the item below and answer the questions that follow.


Training in Wales to prevent ageism


Growing Older in Wales is a training programme offered to businesses to help them make sure 
that they are not being ageist towards older people.


The programme says there are three main barriers to equality for different age groups:


	 Attitudes – assuming a person cannot do something or would not want to do something because 
of their age


	 Institutional – policies that treat people unreasonably according to their age group


	 Environmental – problems could include poor lighting, lack of access, small type, lack of 
hearing loops or needing to use modern technology


Source adapted from Age UK website


	 (a)	 Using the item, identify two environmental barriers to age equality.	 [2]


	


	


	 (b)	 (i) 	 Suggest one other group, not related to age, that may suffer discrimination because 
of attitudes. 	 [1]


	


	


	 (ii)  	 Explain, with an example, how your chosen group may suffer discrimination.	 [3]
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	 (c)	 Identify and explain two sociological reasons why discrimination in society may be difficult 


to prevent.	 [4]


		  Reason 1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


		  Reason 2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


© WJEC CBAC Ltd.
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7 (a) Level 1 – Limited (0 – 2 marks) 
 
Limited answers will offer responses that display little 
evidence of knowledge or understanding of term. If some 
relevant factual material is used then up to 2 marks are 
available. The quality of written communication will be basic 
 
Level 2 Basic (3 -5 marks) 
 
Three marks are available for basic answers that may address 
the question but that may be underdeveloped and vague. The 
information offered will be basic and sociological language will 
not be used accurately.  
 
At the upper end of this mark band, there may be specific 
mention of different effects of unemployment. The quality of 
written communication will be acceptable, although there may 
be errors of spelling and punctuation. 
 
Level 3 Breadth or Depth (6 - 8 marks) 
 
Six marks are available for answers that offer a clear 
reference to different effects of unemployment, though 
description may be underdeveloped. There will be evidence of 
breadth or depth of knowledge and understanding. 
 
The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there may be specific mention of theoretical ideas relating to 
effects of unemployment.  The quality of written 
communication will be clear, with few errors of spelling, 
grammar and punctuation. 
 
Level 4 Breadth and Depth (9 -10 marks) 
 
Nine marks are available for detailed answers that offer a 
specific and accurate knowledge or understanding of effects 
of unemployment. The information offered will display 
accuracy and sociological language will be used.  
 
At the upper end of this mark band, understanding may be 
displayed through contrasting and comparative descriptions of 
description with reference to  examples although this is not 
specified in the question and should not be used as a 
differentiator. At this level, there will be a balanced response, 
perhaps with reference to theory or research. Answers will 
demonstrate a good application of knowledge. The quality of 
written communication will be good, with few errors of 
spelling, grammar and punctuation. 


5 
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AO 1 
 


AO 2 
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7 (b) Level 1 – Limited (0 – 2 marks) 
 
Limited answers will offer responses that display little evidence of 
knowledge or understanding. If some relevant factual material is 
used then up to 2 marks are available. The quality of written 
communication will be basic 
There will be little or no evidence drawn from different sources. 
The quality of written communication will be basic 
 
Level 2 Basic (3 - 5 marks) 
 
Up to five marks are available for basic answers that may address 
the question. Responses may be underdeveloped and vague. The 
information offered will be minimal and sociological language will not 
be used accurately.  
At the upper end of this mark band, there may be specific reference 
to one or two reasons for the differences in the experiences of work 
for men and women, though responses may be basic. It may show 
evidence of emotional involvement and bias. There will be some 
evidence drawn from different sources including practical 
applications. This may be interpreted. 
The quality of written communication will be acceptable, although 
there may be errors of spelling and punctuation. 
 
Level 3 Breadth or Depth (6 - 8 marks) 
 
Six marks are available for answers that offer a clear reference to 
specific reasons, though evaluation and analysis may be 
unbalanced. There will be evidence of breadth or depth of 
knowledge and understanding 
 
The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, there 
may be specific reference to examples and concepts or theory. Not 
all of these elements of the significance of work may be present or 
equally detailed. 
 
The quality of written communication will be clear, with few errors of 
spelling, grammar and punctuation. 
 
Level 4 breadth and Depth (9 - 10 marks) 
 
Nine marks are available for detailed answers that offer a specific 
and accurate knowledge of understanding of questions, concepts, 
theory or inequalities and power. The information offered will display 
accuracy and sociological language will be used.  
 
At the upper end of this mark band, understanding will be displayed 
through an understanding that some reasons are more significant 
for the differences in the experiences of work for men and women, 
or for knowledge from modern British society. Answers will 
demonstrate a good application of knowledge with examples and 
specific factual evidence.  
The quality of written communication will be good, with few errors of 
spelling, grammar and punctuation. 
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AO 2 
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7 (c) Level 1 – Limited (0 – 4 marks) 
 


Unacceptable answers will offer responses that display no 
evidence of knowledge or understanding of social structures, 
processes or issues. If some minimal relevant factual material 
is used then a mark is available. The quality of written 
communication will be basic 
 


Level 2 Basic (5 - 10 marks) 
 


Five marks are available for basic answers that may address 
the question but that will be underdeveloped and vague. The 
information offered will be minimal and sociological language 
will not be used.  
 


At the upper end of this mark band, there may be specific 
reference to trends and changes of patterns of work, 
addressing issues such as female equality. There may be 
reference to the growth of casual work or the changing nature 
of technology. The quality of written communication will be 
acceptable, although there may be errors of spelling and 
punctuation. 
 


Level 3 Breadth or Depth (11 - 15 marks) 
 


Eleven marks are available for answers that offer a clear 
reference to specific and clearly identified trends and changes 
in work and reasons for change, though description of one 
may be underdeveloped.  
 


The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there may be specific reference to trends and changes of 
work, addressing issues such as declining manufacturing and 
the impact of this on masculinity. There may be reference to 
the growth of low skill, low pay work and casual labour. The 
quality of written communication will be clear, with few errors 
of spelling, grammar and punctuation. 
 
Level 4 Breadth and Depth (16 -20 marks) 
 


Sixteen marks are available for detailed answers that offer a 
specific and accurate knowledge of understanding of trends 
and changes in work relating these to those factors in society 
that have been precipitators of the changes described. The 
information offered will display accuracy and sociological 
language will be used.  
 


At the upper end of this mark band, understanding may be 
displayed through contrasting and comparative reference to 
changes of patterns of work. There may be reference to the 
changing nature of employment and skills. There may be a 
debate about whether changes have been positive or not with 
a conclusion. Answers will demonstrate a good application of 
knowledge with examples and specific factual evidence. The 
quality of written communication will be good, with few errors 
of spelling, grammar and punctuation. 


5 
 


5 
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SECTION B


Answer parts (a), (b) and (c) of one of the following questions.


Question 7	 Work


(a)	 Describe the effects of unemployment.	 [10]


(b)	 Explain why the experience of work may be different for men and women. [10]


(c)	 Using sociological knowledge, discuss factors affecting the experience of work in modern 
Britain. 	 [20]
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9 (a) Level 1 – Limited (0 – 2 marks) 
 
Limited answers will offer responses that display little evidence of 
knowledge or understanding of social structures, processes or 
issues. If some relevant factual material is used then up to 2 marks 
are available. The quality of written communication will be basic 
 
Level 2 Basic (3 -5 marks) 
 
Three marks are available for basic answers that may address the 
question but that may be underdeveloped and vague. The 
information offered will be basic and sociological language will not be 
used accurately.  
 
At the upper end of this mark band, there may be mention of concept 
of subculture or specific examples. Any medium many offer the basis 
of an acceptable response. The quality of written communication will 
be acceptable, although there may be errors of spelling and 
punctuation. 
 
Level 3 Breadth or Depth (6 - 8 marks) 
 
Six marks are available for answers that offer a clear reference to 
different subcultures or acts of deviance and perhaps reference to 
how they may have different norms, though description of one may 
be underdeveloped. There will be evidence of breadth or depth of 
knowledge and understanding. 
 
The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, there may 
be specific description of a case study. Specific mention of any 
examples or forms of subculture is an acceptable response but at this 
level, there may be juxtaposition with the second example. There 
may be unevenness. The quality of written communication will be 
clear, with few errors of spelling, grammar and punctuation. 
 
Level 4 Breadth and Depth (9 -10 marks) 
 
Nine marks are available for detailed answers that offer a specific 
and accurate knowledge of understanding of the term. The 
information offered will display accuracy and sociological language 
will be used.  
 
At the upper end of this mark band, understanding may be displayed 
through contrasting and comparative descriptions of crime and 
deviance although this is not specified in the question and should not 
be used as a differentiator. Examples are sought. Specific mention of 
any subculture is an acceptable response but at this level, there will 
be a balanced response, perhaps with reference to theory or 
research or with a clear understanding of the process of being part of 
a subculture. Answers will demonstrate a good application of 
knowledge. The quality of written communication will be good, with 
few errors of spelling, grammar and punctuation. 
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9 (b) Level 1 – Limited (0 – 2 marks) 
 
Limited answers will offer responses that display little evidence of 
knowledge or understanding. If some relevant factual material is 
used then up to 2 marks are available. The quality of written 
communication will be basic. There will be little or no evidence 
drawn from different sources. No examples will be apparent. The 
quality of written communication will be basic 
 
Level 2 Basic (3 - 5 marks) 
 
Up to five marks are available for basic answers that may address 
the question. Responses may be underdeveloped and vague. The 
information offered will be minimal and sociological language will not 
be used accurately.  
 
At the upper end of this mark band, there may be specific reference 
to the terms of the question, though responses may be generalised 
and vague. There will be some evidence drawn from recent news. 
This may be interpreted. 
 
The quality of written communication will be acceptable, although 
there may be errors of spelling and punctuation. 
 
Level 3 Breadth or Depth (6 - 8 marks) 
 
Six marks are available for answers that offer a clear reference to 
the terms of the question though evaluation and analysis may be 
present, it will be unbalanced. There will be evidence of breadth or 
depth of knowledge and understanding 
 
The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, there 
may be specific reference to the terms of the question. There may 
be examples, but not detailed or well chosen.  There may be 
reference to key studies these will not necessarily be precise or 
contemporary. 
 
The quality of written communication will be clear, with few errors of 
spelling, grammar and punctuation. 
 
Level 4 breadth and Depth (9 - 10 marks) 
 
Nine marks are available for detailed answers that offer a specific 
and accurate knowledge of understanding of official statistics on 
crime.  The information offered will display accuracy and sociological 
language will be used.  
 
At the upper end of this mark band, understanding will be displayed 
through reference to the terms of the question.   
 
Answers will demonstrate a good application of knowledge with 
examples and specific factual evidence, perhaps with reference to 
theories and relevant studies.  
 
The quality of written communication will be good, with few errors of 
spelling, grammar and punctuation. 
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9 (c) Level 1 – Limited (0 – 4 marks) 
 
Unacceptable answers will offer responses that display no 
evidence of knowledge or understanding of social structures, 
processes or issues. If some minimal relevant factual material is 
used then a mark is available. The quality of written 
communication will be basic 
 
Level 2 Basic (5 - 10 marks) 
 
Five marks are available for basic answers that may address the 
question but that will be underdeveloped and vague. The 
information offered will be minimal and sociological language will 
not be used.  
 
At the upper end of this mark band, there may be specific 
reference to one or more ideas about the future of crime. 
Examples may be present but these will be basic and perhaps 
inappropriately applied. The quality of written communication will 
be acceptable, although there may be errors of spelling and 
punctuation. 
 
Level 3 Breadth or Depth (11 - 15 marks) 
 
Eleven marks are available for answers that offer a clear 
reference to specific and clearly identified trends in the future, 
though there may be uneven or underdeveloped responses. 
Descriptive but detailed accounts of one or more theories or of 
examples to account for patterns of crime will be in this mark 
band. 
 
The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, there 
may be specific reference to case studies or theories. The quality 
of written communication will be clear, with few errors of spelling, 
grammar and punctuation. 
Level 4 Breadth and Depth (16 -20 marks) 
 
Sixteen marks are available for detailed answers that offer a 
specific and accurate knowledge of understanding of sociological 
insights into factors affecting trends in crime linking these ideas 
to explicit and relevant examples. The information offered will 
display accuracy and sociological language will be used.  
 
At the upper end of this mark band, understanding may be 
displayed through contrasting and comparative reference to 
theories or examples, perhaps with evaluative and analytical 
observations.  Answers will demonstrate a good application of 
knowledge with examples and specific factual evidence. The 
quality of written communication will be good, with few errors of 
spelling, grammar and punctuation. 
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SECTION B


Answer parts (a), (b) and (c) of one of the following questions.


Question 9	 Crime and Deviance


(a)	 Describe what is meant by a criminal sub-culture.	 [10]


	 (b)	 Explain why official statistics of crime may be inaccurate.	 [10]


	 (c)	 Using sociological knowledge, discuss factors affecting the level of crime in modern 
Britain.	 [20]











